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Homework 5.1

1. For which of the following functions is the Extreme Value Theorem NOT APPLICABLE on the
interval [a, b]? Give a reason for your answer.
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For exercises 2 — 4, determine the critical numbers for each of the functions below.
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5. Given the function below, apply the Extreme Value Theorem to find t f A(x)
O on the indicated interval.
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For exercises 6 — 9, determine the absolutn the given interval. You should do each of
these independent from a calculator.
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8. h(x)=x—ii2 on the interval [4, 0] 9. f(x)=3x%—2x on the interval [1, 1]
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